Graph Samples Band 9

Graph Sample 1
ou should spend about 20 minutes on this task.

The graph below compares the number of visits to two new music sites on the web.

Write a report for a university lecturer describing the information shown below.

M'rite at least 150 words.

Visits to two new music sites on the web
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The graph exhibits people using new music places on the internet in fifteen days period

of time namely personal choice and trendy pop music.

The overall trend shows fluctuation with slight increased towards the end of the period.

Staring with Music Choices websites; 40,000people went on this new site on the first

day. Half of them backed out the next day. In contrast to this pop parade net sites were
visited by 120,000 music lovers on the day one which decreased slightly on the next day

there after regaining the same fame on 3+ day.
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After 3« day the enthusiasm for both music lines on the internet dropped slowly-
reaching maximum fall of 40,000 on the 7= day. Whereas Music Choice gained
popularity, slightly improving to get the original strength of 30,000 viewers on the
screen, but was getting still less visitors then their opponent Pop group i.e. 40,000 on
day 7.

In the beginning of the next week both gained remarkable recovery after few
fluctuations for 8+ and 9+ day having 40,000 and 50,000 visitors respectively, reaching to
their peaks of one and half thousand new visitors for Pop Parade on the 11 day
showing the contrast of very few people visiting music capital choice for the same day.
Thereafter, Music Choice gained popularity on the 12 day for having more than 120,000
new visitors on web.

In the end of the period Pop sites were visited by maximum viewers of 180,000 where as
sides located to Music Choice were nor explored by more than 80,000 explorers on he
last day of the report.
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Graph Sample 2

You should spend about 20 minutes on this task.
The bar chart below shows the results of a survey conducted by a personnel department at a
major company. The survey was carried out on two groups of workers: those aged from 18-30
and those aged 45-60, and shows factors affecting their work performance.

Write a report for a university lecturer describing the information below.

Nrite at least 150 words.

Factors affecting work performance
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The bar chart indicates a survey on two different age groups on the factors contributing
to make their environment pleasant for working.
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These factors are divided in to internal and external factors. The internal factors are the
team spirit, competent boss, respect from colleagues and job satisfaction. The external
factors are chance for personal development, job security, promotional prospects and
money.

On the internal factors above 50 % in both age groups agreed that team spirit,
competent boss and job satisfaction are essential to make their environment pleasant.
Whereas on the external factors, there are contrasting results. On the chance of personal
development and promotional aspects, 80% to 90% of the younger groups were in favor
while only less than 50% of the older group thought so. A similar pattern is also noted
on job security. With regards to money, 69% to 70% on both age groups said it is
essential.

In conclusion, the internal factors have similar responses from the two age groups while
they had dissimilar responses on the external factors.

Graph Sample 3

You should spend about 20 minutes on this task.
The table below shows the results of a survey of the average number of cars per hour using
three suburban roads during working hours in a ten-year pollution monitoring programme.
Traffic calming* was Introduced in Harper Lane at the beginning of 1999.
Write a report for a university lecturer describing the data below.

“traffic calming = methods of slowing down traffic, .g. by building raised areas across roads.

Nrite at least 150 words.

1993 | 1994 | 1995 | 1996 | 1997 | 1998 | 1999 | 2000 | 2001 | 2002

wm
5

Harper Lane 82 | 100 | 386 654 [ 915 | 204 | 173 | 178 | 193

Creat York Way 600 | 720 700 667 630 695 911 902 900 900

Long Lane 400 450 600 800 638 700 1000 | 1200 | 1400 | 1400
| ‘

|

The data exhibits the conclusion of study of the average number of cars passing on
three different roads between 1993 and 2002. In general the trend was upward over the
period.
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The most striking feature is that there was a dramatic increase in the number of cars

passed on the Long Lane from 1993 to 2001, during which the number increased from
400 cars in 1993 to 1400 cars in 2001.

However, the number was stable during the following year at 1400 cars.

The evidence reveals that the number of cars on Harper Lane rose between 1993 and
1998. One year before the introduction of the methods to slow down traffic, the number
declined with slight fluctuation.

The facts show that the average number of cars passed on Great York Way increased
significantly from 1993 to 1999, the same year in which methods to slow down traffic
was introduced. There were 600 cars in 1993 and 911 cars in 1999. However there was a
slight reduction in the number of cars during the following years.

To sum up the introduction of traffic calming had a non significant impact on the cars
passing on roads Long Lane and Great York Way. In comparison there was a slight
effect on the cars passing on Harper Lane.

Graph Sample 4 - (Sorry No Graph for this)

The bar char shows the predicted sales of silver goods in “OOOs of units for two
companies; Meteor Products Ltd and Mark Jones Ltd for next year.

The most striking feature is that sales will increase for both companies. It is anticipated
that sales of Mark Jones Ltd will start at 450,000 units in January decreasing by 200,000
units following month with a gradual recovery over the subsequent four months
reaching 400,000 units in June. Those of Mark Jones Ltd are predicated to be stable until
August picking up to 600,000 units in September and

October. Sales of Mark Jones Ltd will reach peak of 900,000 in December. For those of
Meteor Products Ltd is forecasted a gradual increase with the largest sale of 600,000
units in December. In the beginning of the next year those of Meteor Products Ltd will
stand at 150,000 units falling back to 100,000 units in February, rising steadily to 250,000
in June. In subsequent months sale will reach 450,000 units increasing 500,000 units in
August, staying stable until November.

Regarding the pie chart the sales of Mark Jones Ltd will share 30 % of the market
whereas that of Meteor Products Ltd 20% to 50 % of market is set to be shared by other
companies.
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Sample Answer

The line graph illustrates the amount of three kinds of spreads (margarine, low
fat and reduced spreads and butter ) which were consurned over 26 years from

1981 to 2007. Units are measured in grams.

Owerall, the consumption of margarine and butter decreased over period given,
while for low fat and reduced spreads, it rose. At the start of the period, butter
was the most popular spread, which was replaced by margarine from 1991 fo
2001, and following that low fat and reduced spreads became the most widely
used spread in the final years.

With regards to the amount of butter used. it began at around 140 grams and
then peaked at 160 grams in 1986 before falling dramatically to about 50
grams in the last year. Likewise, approximately 90 grams of margarine was
eaten in the first year after which the figure fluctuated slightly and dropped to
a low of 40 grams in 2007.

On the other hand, the consumption of low fats and reduced spreads only
started in 1996 at about 10 grams. This figure. which reached a high of just
over 80 grams 5 years later, fell slightly in the final years to approximately 70

grams in 2007.
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IELTS Model Answer, Reported 2016

The pie charts give information about how the world’s water is distributed,
whereas the bar chart illustrates the percentage of water used in agriculture,

domestic use and industry in three countries (Egyvpt, Saudi Arabia and Canada).

Crverall, salt water makes up an overwhelming majority of the world’s water. Fresh
water is made up of mainly water from ice and glaciers. While most water in Egvpt
and 5Saudi Arabia is used for agriculture, in Canada it is predominantly used for

industry.

The pie charts show that 97% of global water is salt water compared to a mere 3%
which is fresh water. Water from ice and glaciers accounts for 79% of all fresh

water as opposed to ground water and surface water (20% and 1% respectively).

In terms of the use of water, both Egvpt and Saudi Arabia use almost 80% of their
water for agriculture in comparison to domestic usage and industry which account
for approximately 15% and 10% respectively. The reverse is seen in Canada where
only 10% of water is used for agriculture and domestic purposes in contrast to

industry, which uses 80% of water in Canada.

Words =189
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IELTS Diagram Model Answer

The diagram illustrates how an Australian town collects rainwater to process in
order to use as drinking water. Overall, rainwater collected from houses can be
used for drinking after it has been processed by being filtered and then being
treated with chemicals.

Initially, the rain which falls on the rooftop is collected by the gutter and then runs
down the pipe at the side of the house into the drain at the bottom. Each house
collects rainwater in this wayv and the rainwater is then passed along underground

drains to the water filter.

The rainwater passes through the water filter to remove any impurities. Once it has
been filtered, it continues along the pipes to a storage tank. From this point, the
water goes from storage to the water treatment. At this stage of the process, the
water is treated with chemicals in order to make it fit for consumption. When the
water is ready for drinking, it travels along pipes that lead back into the houses in

the town where people can use the water for daily consumption.

179 wrords
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IELTS Writing Task 1 Answer 2017

The two bar charts illustrate the population growth as well as the birth and death
rates in England and Wales between 1700 and 2000. The population is given in
millions, while the birth and death rates are per 1000 people.

Orverall, there was a dramatic increase in the population of England and Wales over
the 400 vears. The birth and death rates initially witnessed a growth but then
steadily declined over the period given. The birth rate was constantly higher than

the death rate over the period given.

The population of England and Wales stood at under 10 million in 1700 which then
doubled to around 15 million in 1800. By 2000, the figure had reached a high of
almost 50 million, almost 5 times that of the population in 1700.

The birth rate was just under 10 per 1000 in 1700 and rose dramatically to peak at
over 20 per 1000 in 1800 before dropping to slightly over 10 in the final century.
The death rate showed a similar trend but was between 5 and 10 per 1000 less than
the birth rate at all times.

187 words (I have put the word count for you. You shouldn’t do this in the fest.)
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IELTS Table Model Answer

The table illustrates the proportion of national expenditure in Ireland, Italy, Spain,

Sweden and Turkey on three categories of items in 2002.

Orverall, all countries spent most on food, drinks and tobacco, which was almost
three times that of the other items. The lowest expenditure was on leisure and
education in the five countries. The expenditure of Turkey overall was higher than

the other countries.

In terms of food, drinks and tobacco, Turkey spent the most at 32.14%. The
expenditure of Ireland was also high (28.91%) compared to Sweden which spent
the least (15.77%). Spain and Italy spent 18.80% and 16.36% respectively.

Italy spent more than the other countries on clothing and footwear (9%) as
opposed to the lowest expenditure which could be seen in Sweden at 5.40%. The

other three countries spent on average around 6.5%.

The lowest expenditure was on leisure and education which accounted for under
5% in all countries. Turkey spent most on these items at just 4.35% of their national
expenditure which is around double that of Spain which spent the least at just
1.58%.
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Model Answer with Future Predictions

ielts table future predictions

The table gives information about the proportion of the population who are 65
yvears old and over in 3 countries (Canada, Germany and the UK) in 1938, 2000 and

an estimated percentage in 2030.

Orerall, the population of elderly people is predicted to rise in all three countries
from 1988 to 2030. The highest percentage of older people was in Germany, which
will continue to remain the highest in 2030, while the lowest propeortion can be

seen in the UK over the period given.

Between 1988 and 2000, the aging population of Canada and Germany went up by
around 2% to 20.67% and 25.32% respectively. The UK, on the other hand, showed
relatively little change in the proportion of its population aged 65 plus and

remained at just under 15% in both vears.

Bv 2030, it is expected that the population of people aged 65 and above will
increase by approximately 5.5% in all three countries. The percentage is forecast to
reach 30.42% in Germany, 26.35% in Canada and 20.35% in the UK.
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IELTS Bar Chart Sample Answer

The chart illustrates the amount of money spent on five consumer goods (cars, computers.
books. perfume and cameras) in France and the UK in 2010. Units are measured in pounds

sterling.

Owerall, the UK spent more money on consumer goods than France in the period given.
Eoth the British and the French spent most of their money on cars whereas the least amount
of money was spent on perfume in the UK compared to cameras in France. Furthermore,

the most significant difference in expenditure between the two countries was on cameras.

In terms of cars. people in the UK spent about £450.000 on this as opposed to the French
who spent £400,000. Similarly, the British spent more money on books than the French
(around £400,000 and £300,000 respectively). In the UK, expenditure on cameras (just
over £350,000) was over double that of France, which was only £150,000.

Om the other hand. the amount spent on the remaining goods was higher in France. Above
£350.000 zas spent by the French on computers which was slightly more than the British
who spent exactly £350.000. Neither of the countries spent much on perfume which
accounted for £200.000 of expenditure in France but under £150,000 in the UK.
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The bar chart illustrates how many children, divided by gender, played six
kinds of sports (tennis, badminton. cycling, swimming, football and hockey) in

a town in England in 2012.

Owerall, the number of boys playing sport exceeded that of girls in the given
period and the sport with the most significant difference between the genders
was football. Football was also the most popular sport for boys while the
majority of girls preferred swimming. Furthermore. both males and fermales

least preferred playing hockey.

There were four sports in which boys participated more than girls. While 60
boys played football, the number of girls playing that sport was considerably
lower (around 20). With regards to tennis, the figure for boys who played that
sport was 30 as opposed to just under 40 for girls. Similarly, more boys cycled
than girls (approximately 35and 20 respectively). The difference, in terms of
hockey. was minimal with only about 5 more boys playing that sport than

girls.

On the other hand. more girls took part in the two remaining sports which
both showed a difference of about 10 between the genders. As many as 50 girls

preferred swimming in comparison to 40 girls for badminton.
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Model Writing Task 1: Map Comparison

The maps illustrate how Meadowside village and Fonton, which is a neighbouring fown.

have developed over three different time periods (1962, 1985 and the present).

Owerall. Meadowside village increased in size and has become Meadowside Suburb as it
merged together with Fonton. Furthermore, there have been significant changes in

infrastructure, housing and facilities over the period given.

In 1962, both Meadowside and Fonton were completely separate with no roads or rail
connecting them. While Fonton had a railway line running through it to the north.

Meadowside, located to the west of Fonton, only had a small road from the west.

By 1985. there was a considerable growth in the size of Meadowside village and Fonton.
The small road in Meadowside village had been converted into a main road and was also
extended to the east to connect with Fonton. Meadowside, moreover, had also developed a

housing estate in the west, a leisure complex and a supermarket in the south.

Currently. both Meadowside, which is now a suburb. and Fonton are joined. The railway
line, which runs through Fonton, has been extended to the west where a train station has
been built. To the north of the station. a hotel has been constructed and opposite the station,

to the south. there is now a business park.
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Diagram Model Answer

The diagrams illustrate the way in which cement is made and how it is then used
in the process of making concrete. Overall, limestone and clay pass through four
stages before being bagged ready for use as cement which then accounts for 15% of
the four materials used to produce concrete. While the process of making cement

uses a number of tools, the production of concrete requires only a concrete mixer.

In the first stage of making cement, limestone and clay are crushed together to
form a powder. This powder is then combined in a mixer before passing into a
rotating heater which has constant heat applied at one end of the tube, The
resulting mixture is ground in order to produce cement. The final product is

afterwards put into bags ready to be used.

Fegarding the second diagram, concrete consists of mainly gravel, which is small
stones, and this makes up 50% of the ingredients. The other materials used are
sand (25%), cement (15%) and water (10%). These are all poured into a concrete
mixer which continually rotates to combine the materials and ultimately produces

concrete,
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Pie Chart Sample Answer

The two pie charts illustrate the proportion of five types of energy production in France in
1995 and 2005.

Owerall. in both years. the most significant sources of energy were gas and coal. which
together accounted for over half the production of energy. while nuclear and other kinds of
energy sources generated the least amount of energy in France. In all types of energy

production there was only minimal change over the 10 year period.

Energy produced by coal comprised of 29.80% in the first year and this showed only a very
slight increase of about a mere 1 % to 30.9% in 2005, Likewise, in 1995, gas generated

29.63% which rose marginally to 30.1% 10 years later.

With regards to the remaining methods of producing energy, there was an approximate 5%
growth in production from both nuclear power and other sources to 10.10% and 9.10%
respectively. Petrol. on the other hand. was the only source of energy which decreased in

production from 29.27% in 1995 to around a fifth (19.55%) in 2005.
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